Vector Identities
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These are from the cover of Jackson: )
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= (1)
Ax(BxC) = (A-C)B-(4-B)C (2)
(AxB)-(CxD) = (A-C)(B-D)-(A-D)(B-C) (3)
Vx (Vo) = 0 (4)
V- (VxA4) =0 (5)
ﬁx(ﬁx/f) = ﬁ(ﬁ ﬁ)—VQA (6)
V- (24) = A-Vo+avV-A (7)
ﬁx(@/f) = VO xA+dV xA (8)
V(A-B) = (A-V)B+(B-V)A (9)
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V- (AxB) = (VxA)-B-4.(VxB) (10)
Vx (AxB) = +A(V-B)-B(V-A4) (11)

+(B-V)A-(B-V)A
With the position vector & with r = |Z|, 7 = 7/r,

V-Z=3 V xZ=0 (12)
G =2r+ 9 i) =0 (13)
(4-9) o) = T (45 (A7) 40 (4-7) 2 (14)
V(7 A)=A+7(V-A)+i(Lx A) (15)
L=-i(7xV) (16)

These are some more identities



